Honors Precalculus ’22-23 Name
Trig Basics Test vl
Part [--CALCULATOR ALLOWED

1. In the figure to the right, cos@cotf =
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2. Which of the following is a unit vector?
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3. In the figure »cos8 equals y
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4. Simplify the expression tam(sin‘1 6x).
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5. In the figure below, Circle O has radius 7 and PR has length 4. What is the
radian measure of ZPOR?
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6.  Ifthe terminal side of & passes through (-9, —5), then cotor=
TIELS = (06
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7. If cscO:%and cosO<O, then tanf = _kf
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Trig Basics Test v1
Part II--CALCULATOR ALLOWED

1. (12, —13) is on the terminal side of 4. Find the six exact trig values:

(‘:\] 33 —
SinA = "”‘3/‘37; CSCA= *’"3‘%—5
cosA= ‘¥/im secA= zz/
tanA= ~— o cotA== "'%/

2. If cosB=-2 3 in QIL, find the other five exact trig values:

. Y =39
¥ d L ;
sinB= H’Vg cscB= y/@’;
cosB=—% secB= ’87/5’
.
VL) /
tanB = v &/{ cotB :# o J':"

3. What are the approximate values, in degrees of 4 and B (from #1and #2)?

A= Y21 +£36.0)

B= /2< (g2 T360,




4. (a) Find the approximate values of:
Cos -28= ", “ (3

Sin-136°= — L3S

Tan2.34= —\ 033

Sec-717=  |. 274

Csc15.29°= 3, #9972

Cot2= —. 4SS
(b) Find the approximate values (in degrees) of:
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Cos-11.705=1 ~o SoLvned Sin-1 (-0.516)= . .
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Tan-1 0.758={ 3 4. 1622 18oA Sec-1 2.982={ +36. 406 F360n
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Csc-1-1.362= ) .
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6. A boat sails 48 mph at a bearing of 303°. The current flows 8 mph at 34°.
Find the magnitude and bearing of the resultant vector.
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7. If _s‘=—12_i.+53‘ and ;=ST+18T, find:
a. 5s-21 = _lpof' +)Sj-iotdc—3‘é:)“

= —%)Zf - W?

. ‘ A ~ — ——
b. |4s+7r| :\ ~\3C }/H{GJ ' - \\,g@m rAp .19
¢ (-122 «<F) + F(5C +183) = —4FC 4257 46T 1267

c.  The unit vector in the direction 5s —=21

[ -
.F'___ 4
FSL A 15220



